HENEREREES i
SHI3F12H2H (K)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =
2% £S5 224.5 1,220 289
AABHLA 53.8 500 50
LHLA 78.4 400 20
<IHLA 27.2 810 201
<5 260.8 890 289
FHA 402.5 339 102
FHAH 48.0 1,509 1,013 oo 0"
HIHS 38.2 20
ZZF 899.2 496 239
2399179 29.6 307 181
JEZHAN 38.3 96 76
HF A 78.0 481 51
IR 24.7 1,019 34
EHE 2,203.2




€::3-2)

(EfZ : kg )
pHE i miEH o2 = B Z B " =
B 3% Ry FHA 379.3 480 260
hT 44% EXTVRS 341.7 150 70
RERE 39% 7HU 1,007.0 450
aitaE

1,728.0




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
MR 28
hT 44% <43 3,073.9 1,200 800

D
[ =]

1§ 3,073.9




